FSFERGERE AR FRARE OREIRT

B RRET | wam | mma | PUEES | RS | S |wesv
A A A A A A &
EBEEE) 12 211 180 36 35 13 138
=25 ER) 1 15 13 4 4 2 6.5
BHAT) (BE) 1 5 4 4 4 1 40
EEXELT 1 10 9 5 5 1 9.0
RBE 2 11 11 7 7 4 2.8

24t 5 30 29 18 18 7 4.1
I 2 4 3 2 2 2 15
HEABERE [ER 2 4 3 3 3 2 15
T 1 4 4 2 1 0 -
EEM(EE) 2 2 - - 2 1.0
EEM(2EE) 6 2 2 - - 2 1.0
EERT(3EIE) 3 3 - - 2 15
EREH (ESEHIE) 1 2 2 - - 0 -
EREH(REEY) 1 2 2 - - 1 2,0
BENHEBER (FHRR) 1 2 2 - - 1 2.0
LEEHE CEE) 2 8 6 4 4 2 30
DFEEA S (D) 1 13 8 5 5 1 8.0
mEEHFELEREB) 1 1 1 - - 1 1.0
MZEERFLCEEB) 1 0 0 - - 0 -
BRI E S (M) 1 1 1 - - 1 1.0
BEIFEES (FHRR) 1 0 0 - - 0 -
EEr(1EIB) 8 12 11 - - 9 12
EEA (2EIB) 7 3 2 - - 2 1.0
EXE=RT (3EIB) 4 0 0 - - 0 -
DNEBAYES— 1 8 7 - - 1 7.0
GES 1 43 37 6 5 1 37.0
EBHNBHEF) 5 57 43 23 23 5 8.6
EEERNR | BHERAL) 1 5 2 1 1 0 -
INPEER TS 1 6 3 2 2 0 -
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